Ne n/n Knaccsl CTtonsbl Ne n/n  Knaccsbl Ctonsbl

laa cmeHa

1-oe nonyroaune lasg nepemeHa ( 8.35 - 8.55) 20e nonyroane las nepemeHa (8.40 - 9.00)
1, 1 «A» 1-2 np. cTop. 1 1 «A» 1-2 np. cTOP.
2 1 «Bb» 3 -4 np. cTop. 2. 1 «b» 3 -4 np. cTop.
3. 1 «B» 5-6 np. cTop. 3. 1 «B» 5-6 np. cTop.
4, 1«M» 7-8 np. cTop. 4, l«l» 7-8 np. cTop.
5 1 «[1» 1-2 nes. cTop. 5. 1«» 1-2 neB. cTop.
6. 1 «E» 3-4 neB. cTOp 6. 1 «E» 3-4 neB. cTOp
2- aa ne pemeHa (9.40- 09.55)

2 «A» 1-2 np. cTop.

2 «b» 3 -4 np. cTOp.

2 «B» 5-6 np. cTop.

2 «I» 7-8 np. cTop.

2« O» 1-2 nes. cTop.

2 «E» 3-4 neB. cTOp
3-a nepemeHa (10.35 -10.50)

5 «A» 1-2 np. cTop.

5 «b» 3 -4 np. cTop.

5 «B» 5-6 np. cTop.

5 «I» 7-8 np. cTop.

5 «[1» 1-2 nes. cTop.

8 «A» 3-4 neB. cToOp

8 «b» 5-6 neB. cTOp
4-9 nepemeHa (11.30 -11.45)

8 «B» 1-2 np. cTop.

8 «I» 2-3 np. cTop.

9 «A» 4-5 np. cTop.

9 «b» 5-6 np. cTop.

9« » 7-8 np. cTop.

10 «A» 1 nes. cTOp.

10 «Bb» 2 neB. CcTOP

11 «A» 3 neB. cTOp

11 «b» 4 nes. cTOp.

2-4 cMeHa

2-a nepemeHa (15.05- 15.20)

3 «A» 1-2 np. cTop.

3 «b» 2-3 np. cTop.

3 «B» 4-5 np. cTop.



3 «l»
3((.["))
4 «A»
4 «Bb»
4 «B»
3-a nepemeHa (15.15 - 15.25)
4 «I»
4 «[»
6 «A»
6 «b»
6 «B»
6 «I»
6 «»
7 «A»
7 «Bb»
7 «B»
7 «»

6-7 np.
8 np.
1-2 nes.
3-4 nes.
5-6 nes.

1-2 np.
2-3 np.
3-4 np.
4-5 np.
5-6 np.
6-7 np:
1-2 nes.
2-3 nes.
4-5 nes.
5-6 nes.
7 nes.

cTop.
cTop.
cTop
cTop
cTop

cTop.
cTop.
cTop.
cTop.
cTop.
cTop.
cTop.
cTop.
cTop.
cTop.
cTop.



